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Unit 1 Day 13

Test Review
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Warm-up

x = 7, y = 8 a = 13, b = 13 x = 32

m = 12 s = 25 r = 65
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1. Point C lies on such that                  .  If the endpoints of AB are 

A(8, 12) and B(-4, 0), find the coordinates of C.

2. Suppose PQ has endpoints P(2, 3) and Q(8, -9).  Find the 

coordinates of R and S so that R lies between P and S and .

Day 12 Homework Answers

D = midpointof AB

8 ( 4) 0 12
    = ( , ) (2,6)

2 2

  


C = midpointof AD

8 2 12 6
    = ( , ) (5,9)

2 2

 


Distance from P to R = (2+2, 3-4) = R (4, -1)

Distance from R to S = (4+2, -1-4) = S(6, -5)
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3. In the figure below, EC bisects AD at C, and EF bisects AC at B.  

For each of the following, find the value of x and the measure of 

the indicated segment.

x = 8, AC = 60
x = 3, AD = 14
x = 1, CD = 1
x = 5, AB = 7
x = 2, CD = 6
x = -3, BC = 5
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2 2 2 2

2 2 2 2

( 1 3) (1 4) 5 (6 2) (0 3) 5

(3 6) (4 0) 5 ( 1 2) (1 3) 5

AB CD

BC AD

          

          

4. A rectangle has vertices A(-1,1), B(3,4),  C(6,0), and D(2,-3).

Graph the rectangle on separate sheet of graph paper.

Find the area and perimeter of the rectangle.

Area = 25 Perimeter = 20

5. IF GJ = 32, find:  

a. X = 4

b. GH = 12

c. HJ = 20
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32 16 2 54.63Perimeter   

c c3x  0y 

c16 2 22.63x  
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Whiteboard Review

• Get a whiteboard, marker and 
eraser! 
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x = 8
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r = 28/3



13

A lighthouse casts a 128-foot shadow.  A nearby lamppost that measures

5 feet 3 inches casts an 8-foot shadow.

Write a proportion that can be used to determine the height of 

the lighthouse.

What is the height of the lighthouse?

84 ft.

128

5.25 8

x

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Use triangle similarity to find the value of x.

x = 42
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Use triangle similarity to find the value of x.

x = 20



16

Use triangle similarity to find the value of x.

x = 8
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Use triangle similarity to find the value of x.

x = 4.5
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HL 
Not possible
(AA is only for ~)

SAS 

State the postulate or theorem you would use to prove each pair of 

triangles congruent. If the triangles cannot be proved congruent, 

write not possible. 
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AAS ASA

SSS

 


State the postulate or theorem you would use to prove each pair of 

triangles congruent. If the triangles cannot be proved congruent, 

write not possible. 
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Not possible SSS Not possible

State the postulate or theorem you would use to prove each pair of 

triangles congruent. If the triangles cannot be proved congruent, 

write not possible. 
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Not possible AAS SSS 

State the postulate or theorem you would use to prove each pair of 

triangles congruent. If the triangles cannot be proved congruent, 

write not possible. 
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JEOPARDY!
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